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Integral for Bar 1
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Time-Integral histogram
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Charge code

TH1D * charge[nBar];
( 1 =0; 1 < nBar; i++){
charge[i] = THAD(Form( , 1+1), Form(

fHistProxy->Add(charge[i]);



Charge code

maxheight [pid-1] = wave->GetMaximum();
}
}

TH1D * occ = (TH1D%)fHistProxy->FindObject( );
TH1D * hitN = (TH1D%)fHistProxy->FindObject( );
hitN->Reset();

TH1D * hitN1 = (TH1Dx)fHistProxy->Find0Object( );
hitN1->Reset();
TH1D * hitN2 = (TH1Dx)fHistProxy->Find0Object( );
hitN2->Reset();
( mid=0; mid<nadc; mid++){
( bid=0; bid<”; bid++){

BarNum = mid*”+bid;
max = maxheight[“*BarNum] + maxheight[”*BarNum+'] - rdata->header[mid][”*bid]->ped[©] - rdata->header[mid][“*bid+1]->ped[0];
TH1D * charge = (TH1D*)fHistProxy->FindOb ject(Form( ,BarNum+1));
(max>200)
charge->Fill(max);
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Height for Bar 12-15
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Anti proton beam data analysis




etc

* One more bar assembled
« Repaired PMT seems fine



